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Children will then progress to counting on from the largest number.
To find how many altogether, children will use tens and units to make the number and then count on

“0
from the largest number.

11+5=16
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Children will then represent additions by drawing their own number lines.
3I+1=5

Year 2:

To find how many altogether, children will use tens and units to make the number and then combine
the units and tens to find the total.

32+21=53
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This can then be shown as a drawing:

Children will then draw their own number lines to solve additions.
I4+23=57
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To find how many altogether, fouch and drag them into a line one at a time whilst counting.
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Year 3:

The base ten will continue to be used to add tens and units but using the column method.

They will also continue to use number lines for bridging through tens and other mental strategies.

50 Wve've zdded fifty which iz one too
+10 127 =45 =176 * many. 50 'we need to mhe one away.
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Year 4:
The base ten will continue to be used to add hundreds, tens and units alongside the written column
method.
N A
gC //// |
1
They will also continue to use number lines for mental calculations.
IT+e4=181
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Year b:

Formal column method used.
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They will also continue to use number lines for mental calculations.
1955+ 278=12273
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Year 6: Formal column method used.
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numbers of decimal places, children
should be taught and encouraged to

6 make them the same through
identification that 2 tenths is the same as
20 hundredths, therefore, 0.2 is the
same value as 0.20.
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They will also continue to use number lines for mental calculations and adding decimals.

84+38=122

84 14 1240 123
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